Thai Journal of Mathematics Special Issue (Annual Meeting in Mathematics, 2008) : 15-26 www.math.science.cmu.ac.th/thaijournal Thai J. Math

Online ISSN 1686-0209 Weak and strong convergence theorems for a finite

family of nonexpansive and asymptotically nonexpansive mappings in Banach spaces

Satit Saejung and Kittipong Sitthikul

Abstract : In this paper, weak and strong convergence of finite step iteration sequences with errors to a common fixed point for a pair of a finite family of nonexpansive mappings and a finite family of asymptotically nonexpansive mappings in nonempty closed convex subset of uniformly convex Banach spaces are presented.

Keywords : Nonexpansive mapping, asymptotically nonexpansive mapping, common fixed point, finite-step iterative sequence.

2000 Mathematics Subject Classification: 47H09, 47H10.

1 Introduction

The concept of asymptotically nonexpansive mappings was introduced by Goebel and Kirk [4] in 1972. They also proved that every asymptotically nonexpansive mapping of a nonempty closed bounded subset of a uniformly convex Banach space always has a fixed point. Since then many authors have studied iterative approximation methods of fixed points for asymptotically nonexpansive mappings. In 1991, Schu [13], [14] introduced the modified Mann iteration method and proved that such iterative sequences converge strongly to a fixed point of an asymptotically nonexpansive mapping in a Hilbert space. Rhoades [12] extended the results in [13] to uniformly convex Banach spaces and to the modified Ishikawa iteration methods.

Recently, Gu and He [6] studied a multi-step iterative sequence involving finite nonexpansive mappings in a uniformly convex Banach space. They obtained weak and strong convergence theorems for approximating common fixed points of nonexpansive mappings. Liu et.al. [8, 9] introduced new iterative methods, the modified three-step and the modified Ishikawa iteration methods with respect to a pair of mappings. They also proved some convergence theorems which improve

^{© 2008} by the Mathematical Association of Thailand All rights reserve.

and unify many results due to Chang [1], Liu and Kang[7], Osilike and Aniagbosor [11], Rhoades [12], and Schu [13, 14] and others.

Inspired and motivated by the works in [8, 9], we introduce a new iterative method with respect to finite mappings, and establish some strong and weak convergence theorems of our iteration method in uniformly convex Banach spaces. The results presented in this paper generalize, improve and unify many results due to Liu et.al. [8, 9] and also Gu and He [6].

2 Preliminaries

Let K a nonempty subset of a real Banach space E and $T : K \to K$ be a mapping with the fixed point set F(T), i.e., $F(T) = \{x \in K : x = Tx\}$.

Definition 2.1. A mapping $T: K \to K$ is said to be

- 1. asymptotically nonexpansive if there exists a sequence $\{k_n\} \subset [1,\infty)$ with $\lim_{n\to\infty} k_n = 1$ such that $||T^n x T^n y|| \leq k_n ||x y||$ for all $x, y \in K$ and $n \geq 1$;
- 2. nonexpansive if $||Tx Ty|| \le ||x y||$ for all $x, y \in K$;
- 3. semi-compact if K is closed and for any bounded sequence $\{x_n\}$ in K with $\lim_{n\to\infty} ||x_n Tx_n|| = 0$, there exist a subsequence $\{x_{n_k}\} \subset \{x_n\}$ and $x \in K$ such that $\lim_{k\to\infty} x_{n_k} = x$;
- 4. demi-closed at a point $p \in K$ if whenever $\{x_n\}$ is a sequence in K which converges weakly to a point $x \in K$ and $\{Tx_n\}$ converges strongly to p, it follows that Tx = p.

It is clear that every nonexpansive mapping is asymptotically nonexpansive. But the converse is not true (see [4]).

Definition 2.2 ([3]). A Banach space E is uniformly convex if for all $\{x_n\}, \{y_n\} \subset \{z \in X : ||z|| = 1\}$ such that $\left\|\frac{x_n + y_n}{2}\right\| \to 1$, we have $||x_n - y_n|| \to 0$.

Definition 2.3 ([10]). A Banach space E satisfies Opial's condition if for each sequence $\{x_n\}$ in E which converges weakly to a point $x \in E$, we have

$$\liminf_{n\to\infty} \|x_n-x\| < \liminf_{n\to\infty} \|x_n-y\| \quad \text{for all } y\in E \text{ with } y\neq x.$$

Let K be a nonempty subset of a Banach space E. Let $S_1, S_2, \ldots, S_N : K \to K$ be N nonexpansive mappings, $T_1, T_2, \ldots, T_N : K \to K$ be N asymptotically

nonexpansive mappings. Then the sequence $\{x_n\}$ defined by

$$\begin{aligned} x_{1} \in K, \\ x_{n}^{(N)} &= x_{n}, \\ x_{n}^{(N-1)} &= a_{n}^{(N)} T_{N}^{n} x_{n}^{(N)} + b_{n}^{(N)} S_{N} x_{n} + c_{n}^{(N)} u_{n}^{(N)}, \\ x_{n}^{(N-2)} &= a_{n}^{(N-1)} T_{N-1}^{n} x_{n}^{(N-1)} + b_{n}^{(N-1)} S_{N-1} x_{n} + c_{n}^{(N-1)} u_{n}^{(N-1)}, \\ \vdots \\ x_{n}^{(2)} &= a_{n}^{(3)} T_{3}^{n} x_{n}^{(3)} + b_{n}^{(3)} S_{3} x_{n} + c_{n}^{(3)} u_{n}^{(3)}, \\ x_{n}^{(1)} &= a_{n}^{(2)} T_{2}^{n} x_{n}^{(2)} + b_{n}^{(2)} S_{2} x_{n} + c_{n}^{(2)} u_{n}^{(2)}, \\ x_{n+1} &= a_{n}^{(1)} T_{1}^{n} x_{n}^{(1)} + b_{n}^{(1)} S_{1} x_{n} + c_{n}^{(1)} u_{n}^{(1)}, \quad n \ge 1, \end{aligned}$$

$$(2.1)$$

is called the N-step iterative sequence, where $\{u_n^{(i)}\}$ are bounded sequences in K and $\{a_n^{(i)}\}_{n=1}^{\infty}, \{b_n^{(i)}\}_{n=1}^{\infty}, \{c_n^{(i)}\}_{n=1}^{\infty} \subset [0,1]$ such that $a_n^{(i)} + b_n^{(i)} + c_n^{(i)} = 1$, for all $i = 1, 2, \ldots, N$.

The purpose of this paper is to study the weak and strong convergence of finite-step iteration sequence with errors terms $\{x_n\}$ defined by (2.1) to a common fixed point for a pair of a finite family of nonexpansive mappings and a finite family of asymptotically nonexpansive mappings in a uniformly convex Banach space.

The following lemmas are our main tool for proving the results.

Lemma 2.1 ([5]). Let E be a uniformly convex Banach space and K be a nonempty closed convex subset of E. If $T : K \to K$ is an asymptotically nonexpansive mapping, then I - T is demiclosed at zero.

Lemma 2.2 ([14]). Let E be a uniformly convex Banach space, $\{t_n\} \subseteq [b,c] \subset (0,1), \{x_n\}$ and $\{y_n\}$ be sequences in E. If $\limsup_{n\to\infty} \|x_n\| \leq a$, $\limsup_{n\to\infty} \|y_n\| \leq a$ and $\lim_{n\to\infty} \|t_nx_n + (1-t_n)y_n\| = a$ for some $a \geq 0$. Then $\lim_{n\to\infty} \|x_n - y_n\| = 0$.

Lemma 2.3 ([11]). Let $\{a_n\}, \{b_n\}$ and $\{c_n\}$ be sequences of nonnegative numbers satisfying the inequality

$$a_{n+1} \leq (1+c_n)a_n + b_n$$
, for all $n \geq 1$.

If $\sum_{n=1}^{\infty} c_n < \infty$ and $\sum_{n=1}^{\infty} b_n < \infty$, then $\lim_{n \to \infty} a_n$ exists. In particular, if $\{a_n\}$ has a subsequence which converges to zero, then $\lim_{n \to \infty} a_n = 0$.

Proposition 2.4 ([15]). Let K be a nonempty subset of a Banach space E and $T_1, T_2..., T_N : K \to K$ be N asymptotically nonexpansive mappings. Then there exists a sequence $\{k_n\} \subset [1, \infty)$ such that $\lim_{n\to\infty} k_n = 1$ and

$$|T_i^n x - T_i^n y|| \le k_n ||x - y||$$
(2.2)

for all $x, y \in K$, $n \ge 1$ and i = 1, 2, ..., N.

Proof. Since each $T_i: K \to K$ is an asymptotically nonexpansive mapping, there exists a sequence $\{k_n^{(i)}\} \subset [1,\infty)$ such that $\lim_{n\to\infty} k_n^{(i)} = 1$ and

 $||T_i^n x - T_i^n y|| \le k_n^{(i)} ||x - y||$ for all $n \ge 1$,

for all $i = 1, 2, \ldots, N$ Letting

$$k_n = \max\{k_n^{(1)}, k_n^{(2)}, \dots, k_n^{(N)}\},\$$

so we have $\{k_n\} \subset [1,\infty)$ with $\lim_{n\to\infty} k_n = 1$ and (2.2) is satisfied.

3 Main Results

Since the proof for the N-step iterative scheme is almost the same as the case N = 3, we may consider the following scheme instead:

$$\begin{cases} x_{1} \in K, \\ z_{n} = a_{n}^{(3)} T_{3}^{n} x_{n} + b_{n}^{(3)} S_{3} x_{n} + c_{n}^{(3)} u_{n}^{(3)}, \\ y_{n} = a_{n}^{(2)} T_{2}^{n} z_{n} + b_{n}^{(2)} S_{2} x_{n} + c_{n}^{(2)} u_{n}^{(2)}, \\ x_{n+1} = a_{n}^{(1)} T_{1}^{n} y_{n} + b_{n}^{(1)} S_{1} x_{n} + c_{n}^{(1)} u_{n}^{(1)}, \quad n \ge 1, \end{cases}$$

$$(3.1)$$

 $\{u_n^{(i)}\}\$ are bounded sequences in K and $\{a_n^{(i)}\}_{n=1}^{\infty}, \{b_n^{(i)}\}_{n=1}^{\infty}, \{c_n^{(i)}\}_{n=1}^{\infty} \subset [0, 1]$ such that $a_n^{(i)} + b_n^{(i)} + c_n^{(i)} = 1$, for all i = 1, 2, 3.

Lemma 3.1. Let K be a nonempty convex subset of a real Banach space E. Let $S_1, S_2, S_3 : K \to K$ be nonexpansive mappings, $T_1, T_2, T_3 : K \to K$ be asymptotically nonexpansive mappings with a sequence $\{k_n\}$ given in Proposition 2.4 and $\bigcap_{i=1}^{3} F(S_i) \cap F(T_i) \neq \emptyset$. If

$$\sum_{n=1}^{\infty} (k_n - 1) < \infty, \tag{3.2}$$

and

$$\sum_{n=1}^{\infty} c_n^{(i)} < \infty \quad for \ all \ i = 1, 2, 3, \tag{3.3}$$

then $\lim_{n\to\infty} ||x_n-q||$ exists for any $q \in \bigcap_{i=1}^3 F(S_i) \cap F(T_i)$, where $\{x_n\}$ is defined by the iterative scheme (3.1).

Proof. Let $q \in \bigcap_{i=1}^{3} F(S_i) \cap F(T_i)$. Since S_1, S_2 and S_3 are nonexpansive and T_1, T_2 and T_3 are asymptotically nonexpansive, it follows from (3.1) that

$$\begin{aligned} \|z_n - q\| &\leq a_n^{(3)} \|T_3^n x_n - q\| + b_n^{(3)} \|S_3 x_n - q\| + c_n^{(3)} \|u_n^{(3)} - q\| \\ &\leq a_n^{(3)} k_n \|x_n - q\| + b_n^{(3)} \|x_n - q\| + c_n^{(3)} \|u_n^{(3)} - q\| \\ &\leq a_n^{(3)} k_n \|x_n - q\| + b_n^{(3)} k_n \|x_n - q\| + c_n^{(3)} \|u_n^{(3)} - q\| \\ &\leq (a_n^{(3)} + b_n^{(3)}) k_n \|x_n - q\| + c_n^{(3)} \|u_n^{(3)} - q\| \\ &\leq k_n \|x_n - q\| + t_n^{(3)}, \quad \text{where } t_n^{(3)} = c_n^{(3)} \|u_n^{(3)} - q\|. \end{aligned}$$
(3.4)

Since $\{u_n^{(3)}\}$ is bounded and $\sum_{n=1}^{\infty} c_n^{(3)} < \infty$, $\sum_{n=1}^{\infty} t_n^{(3)} < \infty$, and from (3.4), we have

$$\begin{aligned} \|y_n - q\| &\leq a_n^{(2)} \|T_2^n z_n - q\| + b_n^{(2)} \|S_2 x_n - q\| + c_n^{(2)} \|u_n^{(2)} - q\| \\ &\leq a_n^{(2)} k_n \|z_n - q\| + b_n^{(2)} \|x_n - q\| + c_n^{(2)} \|u_n^{(2)} - q\| \\ &\leq a_n^{(2)} k_n^2 \|x_n - q\| + a_n^{(2)} t_n^{(3)} + b_n^{(2)} k_n^2 \|x_n - q\| + c_n^{(2)} \|u_n^{(2)} - q\| \\ &\leq (a_n^{(2)} + b_n^{(2)}) k_n^2 \|x_n - q\| + a_n^{(2)} t_n^{(3)} + c_n^{(2)} \|u_n^{(2)} - q\| \\ &\leq k_n^2 \|x_n - q\| + t_n^{(2)}, \quad \text{where } t_n^{(2)} = a_n^{(2)} t_n^{(3)} + c_n^{(2)} \|u_n^{(2)} - q\|. \end{aligned}$$
(3.5)

From $\{u_n^{(2)}\}$ is bounded, $\sum_{n=1}^{\infty} c_n^{(2)} < \infty$ and $\sum_{n=1}^{\infty} t_n^{(3)} < \infty$, $\sum_{n=1}^{\infty} t_n^{(2)} < \infty$. Then, by (3.1) and (3.5),

$$\begin{aligned} \|x_{n+1} - q\| &\leq a_n^{(1)} \|T_1^n y_n - q\| + b_n^{(1)} \|S_1 x_n - q\| + c_n^{(1)} \|u_n^{(1)} - q\| \\ &\leq a_n^{(1)} k_n \|y_n - q\| + b_n^{(1)} \|x_n - q\| + c_n^{(1)} \|u_n^{(1)} - q\| \\ &\leq a_n^{(1)} k_n^3 \|x_n - q\| + a_n^{(1)} t_n^{(2)} + b_n^{(1)} k_n^3 \|x_n - q\| + c_n^{(1)} \|u_n^{(1)} - q\| \\ &\leq (a_n^{(1)} + b_n^{(1)}) k_n^3 \|x_n - q\| + a_n^{(1)} t_n^{(2)} + c_n^{(1)} \|u_n^{(1)} - q\| \\ &\leq (1 + (k_n^3 - 1)) \|x_n - q\| + t_n^{(1)}, \quad \text{for } n \geq 1, \end{aligned}$$
(3.6)

where $t_n^{(1)} = a_n^{(1)} t_n^{(2)} + c_n^{(1)} || u_n^{(1)} - q ||$. Since $\{u_n^{(1)}\}$ is bounded, $\sum_{n=1}^{\infty} c_n^{(1)} < \infty$ and $\sum_{n=1}^{\infty} t_n^{(2)} < \infty$, $\sum_{n=1}^{\infty} t_n^{(1)} < \infty$. Notice that (3.2) holds if and only if $\sum_{n=1}^{\infty} (k_n^3 - 1) < \infty$. By Lemma 2.3, we have $\lim_{n \to \infty} ||x_n - q||$ exists. This completes the proof.

Lemma 3.2. Let K be a nonempty convex subset of a uniformly convex Banach space E. Let $S_1, S_2, S_3 : K \to K$ be nonexpansive mappings, $T_1, T_2, T_3 : K \to K$ be asymptotically nonexpansive mappings with a sequence $\{k_n\}$ given in Proposition 2.4 and $\bigcap_{i=1}^3 F(S_i) \cap F(T_i) \neq \emptyset$. Suppose that (3.2) and (3.3) hold and

 $||x - T_i y|| \le ||S_i x - T_i y|| \quad for \ all \ x, y \in K \ and \ i = 1, 2, 3.$ (3.7)

Suppose that there is $\delta > 0$ such that

$$\delta \le a_n^{(i)} \le 1 - \delta \quad \text{for all } n \ge 1 \text{ and } i = 1, 2, 3.$$

$$(3.8)$$

If $\{x_n\}$ is defined by the iterative scheme (3.1), then

$$\lim_{n \to \infty} \|x_n - S_i x_n\| = \lim_{n \to \infty} \|x_n - T_i x_n\| = 0,$$

for all i = 1, 2, 3.

Proof. Let $q \in \bigcap_{i=1}^{3} F(S_i) \cap F(T_i)$. By Lemma 3.1, we have

$$d = \lim_{n \to \infty} \|x_n - q\| \text{ exists.}$$
(3.9)

It follows from (3.4), (3.5), (3.9) and $\lim_{n\to\infty} k_n = 1$ that

$$\limsup_{n \to \infty} \|z_n - q\| \le d, \tag{3.10}$$

and

$$\limsup_{n \to \infty} \|y_n - q\| \le d. \tag{3.11}$$

Moreover,

$$d = \lim_{n \to \infty} \|x_{n+1} - q\|$$

=
$$\lim_{n \to \infty} \|a_n^{(1)}(T_1^n y_n - q + c_n^{(1)}(u_n^{(1)} - S_1 x_n)) + (1 - a_n^{(1)})(S_1 x_n - q + c_n^{(1)}(u_n^{(1)} - S_1 x_n))\|.$$

From S_1 is nonexpansive, T_1 is asymptotically nonexpansive, (3.9), and (3.11), we have

$$\limsup_{n \to \infty} \|S_1 x_n - q + c_n^{(1)} (u_n^{(1)} - S_1 x_n)\| \le d,$$

and

$$\limsup_{n \to \infty} \|T_1^n y_n - q + c_n^{(1)} (u_n^{(1)} - S_1 x_n)\| \le d.$$

By Lemma 2.2, we get

$$\lim_{n \to \infty} \|S_1 x_n - T_1^n y_n\| = \lim_{n \to \infty} \|(S_1 x_n - q + c_n^{(1)} (u_n^{(1)} - S_1 x_n)) - (T_1^n y_n - q + c_n^{(1)} (u_n^{(1)} - S_1 x_n))\| = 0.$$
(3.12)

It follows from (3.7) that,

$$\lim_{n \to \infty} \|x_n - T_1^n y_n\| = 0.$$
(3.13)

Consequently,

$$d = \liminf_{n \to \infty} \|x_n - q\|$$

$$\leq \liminf_{n \to \infty} \|x_n - T_1^n y_n\| + \|T_1^n y_n - q\|$$

$$= \liminf_{n \to \infty} \|T_1^n y_n - q\|$$

$$\leq \liminf_{n \to \infty} k_n \|y_n - q\|$$

$$= \liminf_{n \to \infty} \|y_n - q\|$$

$$\leq \limsup_{n \to \infty} \|y_n - q\| \leq d.$$

Hence,

$$d = \lim_{n \to \infty} \|y_n - q\| = \lim_{n \to \infty} \|a_n^{(2)}(T_2^n z_n - q + c_n^{(2)}(u_n^{(2)} - S_2 x_n)) + (1 - a_n^{(2)})(S_2 x_n - q + c_n^{(2)}(u_n^{(2)} - S_2 x_n))\|.$$

From S_2 is nonexpansive, T_2 is asymptotically nonexpansive, (3.9), and (3.10), we have

$$\limsup_{n \to \infty} \|S_2 x_n - q + c_n^{(2)} (u_n^{(2)} - S_2 x_n)\| \le d,$$

and

$$\limsup_{n \to \infty} \|T_2^n z_n - q + c_n^{(2)} (u_n^{(2)} - S_2 x_n)\| \le d.$$

Applying Lemma 2.2, we have

 $\lim_{n \to \infty} \|S_2 x_n - T_2^n z_n\| = \lim_{n \to \infty} \|(S_2 x_n - q + c_n^{(2)} (u_n^{(2)} - S_2 x_n)) - (T_2^n z_n - q + c_n^{(2)} (u_n^{(2)} - S_2 x_n))\| = 0.$ (3.14)

Again, it follows from (3.7) that

$$\lim_{n \to \infty} \|x_n - T_2^n z_n\| = 0.$$
(3.15)

Consequently,

$$d = \liminf_{n \to \infty} \|x_n - q\|$$

$$\leq \liminf_{n \to \infty} \|x_n - T_2^n z_n\| + \|T_2^n z_n - q\|$$

$$= \liminf_{n \to \infty} \|T_2^n z_n - q\|$$

$$\leq \liminf_{n \to \infty} k_n \|z_n - q\|$$

$$= \liminf_{n \to \infty} \|z_n - q\| \leq d.$$

Hence,

$$d = \lim_{n \to \infty} \|z_n - q\| = \lim_{n \to \infty} \|a_n^{(3)}(T_3^n y_n - q + c_n^{(3)}(u_n^{(3)} - S_3 x_n)) + (1 - a_n^{(3)})(S_3 x_n - q + c_n^{(3)}(u_n^{(3)} - S_3 x_n))\|$$

As before, from S_3 is nonexpansive, T_3 is asymptotically nonexpansive, and (3.9), we have

$$\limsup_{n \to \infty} \|S_3 x_n - q + c_n^{(3)} (u_n^{(3)} - S_3 x_n)\| \le d,$$
(3.16)

and

$$\limsup_{n \to \infty} \|T_1^n y_n - q + c_n^{(1)} (u_n^{(1)} - S_1 x_n)\| \le d.$$
(3.17)

Using Lemma 2.2, we have

$$\lim_{n \to \infty} \|S_3 x_n - T_3^n x_n\| = \lim_{n \to \infty} \|(S_3 x_n - q + c_n^{(3)}(u_n^{(3)} - S_3 x_n)) - (T_3^n y_n - q + c_n^{(3)}(u_n^{(3)} - S_3 x_n))\| = 0.$$
(3.18)

By (3.7), it follows that

$$\lim_{n \to \infty} \|x_n - T_3^n x_n\| = 0.$$
(3.19)

Therefore, by (3.12), (3.13), (3.14), (3.15), (3.18), and (3.19), we have

$$\lim_{n \to \infty} \|x_n - S_i x_n\| = 0 \quad \text{for } i = 1, 2, 3.$$
(3.20)

Using (3.15), (3.19), (3.20), and

$$\begin{aligned} \|x_n - T_2^n x_n\| &\leq \|x_n - T_2^n z_n\| + \|T_2^n z_n - T_2^n x_n\| \\ &\leq \|x_n - T_2^n z_n\| + k_n \|z_n - x_n\| \\ &\leq \|x_n - T_2^n z_n\| + k_n (c_n \|T_3^n x_n - x_n\| + (1 - c_n) \|S_3 x_n - x_n\|), \end{aligned}$$

we have

$$\lim_{n \to \infty} \|x_n - T_2^n x_n\| = 0.$$
(3.21)

Next, using (3.13), (3.15), (3.20), and

$$\begin{aligned} \|x_n - T_1^n x_n\| &\leq \|x_n - T_1^n y_n\| + \|T_1^n y_n - T_1^n x_n\| \\ &\leq \|x_n - T_1^n y_n\| + k_n \|y_n - x_n\| \\ &\leq \|x_n - T_1^n y_n\| + k_n (b_n \|T_2^n z_n - x_n\| + (1 - b_n) \|S_2 x_n - x_n\|), \end{aligned}$$

we get

$$\lim_{n \to \infty} \|x_n - T_1^n x_n\| = 0.$$
(3.22)

From (3.19), (3.21), and (3.22), we have

$$\lim_{n \to \infty} \|x_n - T_i^n x_n\| = 0, \quad \text{for } i = 1, 2, 3.$$
(3.23)

Next, we consider

$$||x_n - x_{n+1}|| \le a_n ||x_n - T_1^n y_n|| + (1 - a_n) ||x_n - S_1 x_n||$$

$$\le ||x_n - T_1^n y_n|| + ||x_n - S_1 x_n|| \to 0,$$
(3.24)

and hence

$$\lim_{n \to \infty} \|x_n - x_{n+1}\| = 0.$$
(3.25)

It follows from (3.23) and (3.25) that

$$\begin{aligned} \|x_{n+1} - T_i x_{n+1}\| &\leq \|x_{n+1} - T_i^{n+1} x_{n+1}\| + \|T_i^{n+1} x_{n+1} - T_i x_{n+1}\| \\ &\leq \|x_{n+1} - T_i^{n+1} x_{n+1}\| + k_1 \|T_i^n x_{n+1} - x_{n+1}\| \\ &\leq \|x_{n+1} - T_i^{n+1} x_{n+1}\| + k_1 (\|T_i^n x_{n+1} - T_i^n x_n\| \\ &+ \|T_i^n x_n - x_n\| + \|x_n - x_{n+1}\|) \\ &\leq \|x_{n+1} - T_i^{n+1} x_{n+1}\| + k_1 (1 + k_n) \|x_n - x_{n+1}\| \\ &+ k_1 \|x_n - T_i^n x_n\| \end{aligned}$$

for i = 1, 2, 3. This implies that

$$\lim_{n \to \infty} \|x_n - T_i x_n\| = 0, \quad \text{for } i = 1, 2, 3.$$

We are ready to establish weak and strong convergence theorems of our iteration.

Theorem 3.3. Let E be a uniformly convex Banach space satisfying Opial's condition and K be a nonempty closed convex subset of E. Let $S_1, S_2, S_3 : K \to K$ be nonexpansive mappings, $T_1, T_2, T_3 : K \to K$ be asymptotically nonexpansive mappings with a sequence $\{k_n\}$ given by in Proposition 2.4 and $\bigcap_{i=1}^3 F(S_i) \cap F(T_i) \neq \emptyset$. If the conditions (3.2), (3.3), (3.7) and (3.8) are satisfied, then the three-step iteration sequence $\{x_n\}$ defined by (3.1) converges weakly to a common fixed point of S_1, S_2, S_3, T_1, T_2 , and T_3 .

Proof. It follows from Lemma 3.1 that $\{x_n\}$ is bounded. Hence $\{x_n\}$ has a subsequence $\{x_{n_j}\}$ which converges weakly to p. Since $\{x_{n_j}\} \subset K$ and K is weakly closed, $p \in K$. From Lemmas 3.2 and 2.1, we deduce that all the mappings $I - T_i$ and $I - S_i$ are demiclosed at zero. Hence $(I - T_i)p = (I - S_i)p = 0$ for all i = 1, 2, 3. That is, $p \in \bigcap_{i=1}^3 F(S_i) \cap F(T_i)$. Suppose that $\{x_n\}$ does not converge weakly to p. Then there exists another subsequence $\{x_{n_k}\}$ of $\{x_n\}$ which converges weakly to some $q \neq p$. Arguing as above, we have $q \in \bigcap_{i=1}^3 F(S_i) \cap F(T_i)$. By Lemma 3.1, we have the limits $a := \lim_{n \to \infty} ||x_n - p||$ and $b := \lim_{n \to \infty} ||x_n - q||$ exist. Because E satisfies the Opial's condition, so

$$a = \liminf_{j \to \infty} \|x_{n_j} - p\| < \liminf_{j \to \infty} \|x_{n_j} - q\| = b$$
$$= \liminf_{k \to \infty} \|x_{n_k} - q\| < \liminf_{k \to \infty} \|x_{n_k} - p\| = a,$$

which is a contradiction. Hence, $\{x_n\}$ converges weakly to $p \in \bigcap_{i=1}^3 F(S_i) \cap F(T_i)$.

Theorem 3.4. Let E be a uniformly convex Banach space and K be a nonempty closed convex subset of E. Let $S_1, S_2, S_3 : K \to K$ be nonexpansive mappings, $T_1, T_2, T_3 : K \to K$ be asymptotically nonexpansive mappings with a sequence $\{k_n\}$ given by in Proposition 2.4 and $\bigcap_{i=1}^3 F(S_i) \cap F(T_i) \neq \emptyset$. Suppose that the conditions (3.2), (3.3), (3.7) and (3.8) are satisfied. If one of mappings T_1, T_2 , and T_3 is semi-compact, then the three-step iteration sequence $\{x_n\}$ defined by (3.1) converges strongly to a common fixed point of S_1, S_2, S_3, T_1, T_2 , and T_3 .

Proof. It follows from Lemma 3.2, we have $\lim_{n\to\infty} ||T_ix_n - x_n|| = 0$ for all i = 1, 2, 3. Since one of mappings T_1, T_2 , and T_3 is semi-compact, there exists a subsequence $\{x_{n_k}\} \subset \{x_n\}$ such that $x_{n_k} \to q \in K$ as $k \to \infty$. By the continuity of all the mappings S_i and T_i and Lemma 3.2, we conclude that

$$||T_i q - q|| = \lim_{k \to \infty} ||T_i x_{n_k} - x_{n_k}|| = 0,$$

and

$$||S_i q - q|| = \lim_{k \to \infty} ||S_i x_{n_k} - x_{n_k}|| = 0,$$

for all i = 1, 2, 3. That is, $q \in \bigcap_{i=1}^{3} F(S_i) \cap F(T_i)$. It follows from Lemma 3.1 that $\lim_{n \to \infty} ||x_n - q|| = 0$ and this completes the proof.

Using the same techniques as Theorems 3.3 and 3.4, we have the following

Theorem 3.5. Let K be a nonempty closed convex subset of a uniformly convex Banach space E. Let $S_1, S_2, \ldots, S_N : K \to K$ be nonexpansive mappings, $T_1, T_2, \ldots, T_N : K \to K$ be asymptotically nonexpansive mappings with a sequence $\{k_n\}$ given by in Proposition 2.4 and $\bigcap_{i=1}^N F(S_i) \cap F(T_i) \neq \emptyset$. Suppose that

$$\sum_{n=1}^{\infty} (k_n - 1) < \infty,$$
$$\sum_{n=1}^{\infty} c_n^{(i)} < \infty,$$

and

$$||x - T_i y|| \le ||S_i x - T_i y||$$
 for all $x, y \in K$ and $i = 1, 2, \dots, N$.

Let $\{x_n\}$ be the N-step iteration sequence defined by (2.1) such that there is $\delta > 0$ such that

$$\delta \leq a_n^{(i)} \leq 1-\delta$$
, for all $n \geq 1$ and $i = 1, 2, \dots, N$.

- (i) If X has the Opial's condition, then $\{x_n\}$ converges weakly to a common fixed point of $S_1, S_2, \ldots, S_N, T_1, T_2, \ldots, T_N$.
- (ii) If one of the mappings T_1, T_2, \ldots, T_N is semi-compact, then $\{x_n\}$ converges strongly to a common fixed point of $S_1, S_2, \ldots, S_N, T_1, T_2, \ldots, T_N$.

Since there is no further generality obtained in using the scheme with error terms rather than the one considered in this paper, it follows from letting

 $S_1 = S_2 = \cdots = S_N =$ the identity mapping

that Theorem 3.5 extends the corresponding results in [6, 8, 9].

References

[1] S. S. Chang, On the approximation problem of fixed points for asymptotically nonexpansive mappings, Indian J. Pure Appl. Math. **32** (2001) 1297–1307.

- [2] S. S. Chang, H. W. J. Lee, and Y. J. Cho, On the convergence of finite steps iterative sequences for asymptotically nonexpansive mappings, Dyn. Contin. Discrete Impuls. Syst. Ser. A Math. Anal. 11 (2004) no. 4, 589–600.
- [3] J. A. Clarkson, Uniformly convex spaces, Trans. Amer. Math. Soc. 40 (1936) 396-414.
- [4] K. Goebel, and W. A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc. 35 (1972) 171–174.
- [5] J. Gornicki, Weak and strong convergence theorems for asymptotically nonexpansive mappings in uniformly convex Banach spaces. Comment. Math. Univ. Carolina 30 (1989), 249–252.
- [6] F. Gu and Z. He, Multi-step iterative process with errors for common fixed points of a finite family of nonexpansive mappings, Math. Commun. 11 (2006) no. 1, 47–54.
- [7] Z. Liu and S. M. Kang, Weak and strong convergence for fixed points of asymptotically nonexpansive mappings, Acta. Math. Sinica 20 (2000) 1009– 1018.
- [8] Z. Liu, R. P. Agarwal, C. Feng, and S. M. Kang, Weak and strong convergence theorems of common fixed points for a pair of nonexpansive and asymptotically nonexpansive mappings, Acta Univ. Palack. Olomuc. Fac. Rerum Natur. Math. 44 (2005) 83–96.
- [9] Z. Liu, C. Feng, J. S. Ume, and S. M. Kang, Weak and strong convergence for common fixed points for a pair of nonexpansive and asymptotically nonexpansive mappings, Taiwanese J. Math. 11 (2007) 27–42.
- [10] Z. Opial, Weak and convergence of the sequence of successive approximations for nonexpansive mappings, Bull. Amer. Math. Soc. 73 (1967) 591–597.
- [11] M. O. Osilike and S. C. Aniagbosor, Weak and strong convergence theorems for fixed points of asymptotically nonexpansive mappings, Math. Comput. Modelling 32 (2000) 1181–1191.
- [12] B. E. Rhoades, Fixed point iteration for certain nonlinear mappings, J. Math. Anal. Appl. 183 (1994) 118–120.
- [13] J. Schu, Iterative construction of fixed points of asymptotically nonexpansive mappings, J. Math. Anal. Appl. 158 (1991) 407–413.
- [14] J. Schu, Weak and strong convergence of fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc. 43 (1991) 153–159.
- [15] Y. Y. Zhou and S. S. Chang, Convergence of implicit iterative process for a finite family of asymptotically nonexpansive mappings in Banach spaces, Numer. Funct. Anal. and Optimiz. 23 (2002) 911–921.

(Received 13 May 2008)

Satit Saejung Department of Mathematics, Khon Kaen University, THAILAND. e-mail : saejung@kku.ac.th

Kittipong Sitthikul Department of Mathematics, Khon Kaen University, THAILAND. e-mail: sittikul_n@hotmail.com